v, g{;”

22 Find the volume of a solid
hemisphere whose radius
is 6.3cm. (Use Tt = 22/7)
TH AW M &
IqadT AT ST
@ Bsar 6.3 cm %’l
(m=22/7 & 39T
Eqi Yy

T~

X 823,908cm’

¥.623.908cm3

2l 323.908cm3
)t)’\lZ}B\.JOch?’

SSC CHSL, 3 June 2022 52 1



283. The total surface area of a

ASA—» 77(2’6 solid hemisphere is
o 16632 cm?. Its volume is
%2;2 XY = 46632 TF S e F1Eqor
1 ST S he
16632 cm? &1 =@l
Y = 7x6=Y2 ITAdT AT AT
¥] 140232 cm?
2 1) 145232 cm3
o U s
cm
A dryr

|

SSC CHSL, 26 May 2022 51



24. The surface area of a sphere is

26t+6 A5 221.76 cm?. Its volume (in
)’\é )(Y?-_-. 22476 > 7x36 cm?3) is (correct to one decimal

place):
i 20 TH A m% EACIC I EL T
221.76 cm? gl $HHT AAdA
V= 2X_6.=LLZ (cm?® H SUHAT & TH TAA
0 ;?_ qeY) T grem?
Q 310.5 b) 315.6
U, 22 4z uz e x> c)289.8 d) 280.4
=X —— XX
33— 107107 \p 282 2\
X\ |
310464

| SSC CGL T-2 2020 | 3



3 3 3 2 2S.Three metallic spheres of radii
37t 4 +'é _ '?2 10cm , 8cm and 6cm ,
6 , 3\ 10 = respectively, are melted to form a

single solid cone of radius 12cm.

ﬁxﬂ((-l%'%"'z = | x}?—f%ﬁ%xh Find the curved surface area of the

/Z{ /-é’ cone, correct to two places of
S9%2% =h decimal. (Take T = 3.14)

uaquy 48 ) ! FHAM: 10cm, 8cm I 6cm BT

ye gl ad F AT Mt F et

B3I 12X 12X FF iz 12cm F3o9T &1 UF SN 4% FardT

L0O 100 N ST §| AF F TH T A

A AT PRT S guHAT F @ TuE
— a& " A (m=3.14)

a) 1664.50cm?

b) 1669.86cm?

c) 1876.79cm?

%1864.41cm2

| | 4
CPO 2022 S2, 10 Nov 2022




Tetrahedron (Iqwhd®):




4.The base of a pyramid is in the

_l X bar oMAX h shape of an equilateral triangle. If
3 2 the perimeter of the base is 18
cm and the height of the pyramid

=1 xJd> g ; XaA0 = is 20cm, then what is the volume

(in cm?) of the pyramid?

TH AT &1 MUR GHERE
. P ¥ weR # ¥ afg
2= 6 YR &Y IR 18 cm & T

RAufaz i 39€ 20 em &, A

RUfAs &1 3maad (cm® #AH)

a1 g2
A 60v3 b) 180v3
c) 602 d) 1203

| /



2. The base of right pyramid is an
equilateral triangle, each side of
which is 20 cm. Each slant edge

¢ is 30 cm. The vertical height (in

cm) of the pyramid is:

T o9 RUfAg &1 3maR e

qQ-Y _jd2> A “ rag Berer & orad
2 = > G yAF S T aaE 20 cm ¥
C Y% fad® #7 30cm

Az i1 Fealer 398 (om

Q=20 H) fFasr grit?
AG=p= 20 2) 5v3 b) 5 Jg‘”

5 /{10\/2;3 d) 10v3

| SSC CGL T-2 2020 | 8




3. The base of a right pyramid is an
T‘s ﬂ; bw&( v t+ LS A equilateral triangle of side 10v/3

cm. if the total surface area of

the pyramid is 270+/3 cm? then
270 ﬁ its height is

-75 /> frelt Rufds &1 smur s

IS
— o} 103 el Th H’F&Eﬁ
EX"’G*"W?’ 14507 Fragr %|cn;m? RufAg #1 Fa
ol 6 N aeRor W
%25 =195 SaTE gl )|
/Q’x ,%)(Q \%,JZ/ ® a) 123 b) 10 cm
Q:|'5 C  ¢)10V/3cm %12 cm

\0
ﬁ (= Y- T{;’éz

| ?



¢4 The base of a right pyramid is an
equilateral triangle of side 4cm.

o The height of the pyramid is half
of its slant height. Find the
>\ 2 volume.

| % h| \&h U §H RAT FT YR 98

(\\ 4cm ST ATl Ueh HHEG

53 7L feer ¥ Rufs & Sl

W2k U SHR A SarE @ ameh
) Y I AT RSl

— 8 8

—) 3»):!3_ =)\’\:% GD_—Y:i_ 2 a)\/—§ ﬂm
2R B )8 d) 8v3




45 The base of a right pyramid is an

2 o= 1
\1 a‘=8
2 IS
_xfmx(z 30%2 Ly l=20
A e

2
e
— /%éc
226 | RS
- 23 &2 \\?C.’:o
=[5
12

il
W=

equilateral triangle with area
163 cm?. If the area of one of its
lateral faces is 30 cm?2, then its
height (in cm) is:

TH 97 A &1 3muR e
HAATE fasrer 2, fower &Fwa

16\/_@11‘r%|21ﬁ3m7ma‘r
BoIhl H F TH H a9

309 ¥, @ swd Fud (dah
) d
739 b) &

g ol

| SSCCGL T2, 13 Sep 2019 S1 | 11




§- The sum of all the lengths of all the

6)( o= 36 edges of a regular tetrahedron is

-6 36 cm. Find thelvolume of the
tetrahedron (in cm?3).




A

b
J3l=2h-2
3 307= Yh +4-8h
9 3R ti-ungh

Bh= i

,a@/x,lﬁ-r/,(xjgfﬁ /"/'3

7. The base of a pyramid is equilateral
triangle of side 4 cm. If its total
surface area is 3 times its volume .
Find the volume of pyramid.

fFdl MUf@AT &1 3R 4 om
g A uF wASh e gl
mmmmm
mmsmﬁ%eﬁﬁﬂﬁ?

FT AT gl )
32

/rzh

a) 32v/3 cm? ﬁ cm?
3 =
W\A ) c) 16V3 cm d)\/§ cm?®

| | 13



&.1f p Dbe the length of the
perpendicular drawn from a vertex
of a regular tetrahedron to its
opposite face and each edge is of

length 2a, then 3p? =
I —crq‘rea"nr # it &

3% RATdd was a% & p
dFEE & o9 d@r o 3R
A% fFaAR Y d€E 2a @, a
3p? =7

a) 5a? ,MBaZ

c) 10a? d) 7a?




9. A right triangular pyramid XYZB is cut
from cube as shown in figure. The side
of cube is 16 cm. X, Y and Z are mid
points of the edges of the cube. What
is the total surface area (in cmz) of
the pyramid?

Star @ smpfa F e = §
UF U q TH FAFONY [EEEICIN
RAIfAE XvzB #reT amar @ G #r
ST 16 . AL X, Y Iz 97 &
st o wed fag 3 Rufds
Fel ST &% (cm? H) AT 872
a)48(V3+1)
b) 24(4 +V3)
c) 28(6 +V3)
A132(3 +3)
|SSC CGLT-2,17 feb 2018| 15

o XYZ +3X M(XBZ)

M«H SX’%‘Z

=32(fé+3)




[o- The length of an edge of a cube is

B 24cm. It is cut by a plane into a

2 pyramid in such a way that its

v three co-terminus edges remain

X :X X Y half of their original length. Find

y 12 the volume of the pyramid.

z 12 UF O T UH R A daE
12J2 24cm Bl 39 TH @AW g@rr
5 4 s RAET & =@ e @

a-TIET ST § & 3u% i we-
\2x\ = 12x \-% Feasw fFaR Iah AT @S
(j I " ¥ e @ o §| RIS
-xJ2 AT AT RIS
YR M DAL 288 b) 864
c) 2883 d) =2

| | 16



Square pyramid (T fiRifirs):

RAT(AGD). AD= AG+GD"
AT (DGE); DE: DGHGE™

g AL LN
Lot Llang T 2 ey \?\ =
L Ge-a
%

2
| | 17




2 2, i.Base of right pyramid is a

n h‘{ﬁf square, length of diagonal of
,Ix,’-wf X1= the base is 24v2 m. If the
22— volume of the pyramid is 1728

m3, its height is

Fdl RufAs # 1 3R
FF g, 3UF MUR & faspol
N TFEE 242 m g IR
sq RUfAs &1 3maaa 1728
m3 § @ M FE$ uar
L

a)7m b)3m

ELY d) 10 m

| CGL 2011 T-2 | 18



20 12- The base of a right pyramid is a
TSH= IOO-I'_'-X'“'E'X 1% square of side 10cm. If the
X height of the pyramid is 12 cm,
then its total surface areais
10cm & dTel TS 9 g
3R ROz € 9 12em @

—W T sEd HO TaE F AAH
qdr &3]
a) 400 cm? b) 620 cm?

c) 260 cm? /5’ 360 cm?

|CGL 2015T-2 | 19



P+ The base of a right pyramid is a
square of side 8V2cm and
each of its slant edge is of length
10 cm. What is the volume

10 (in cm?®) of the pyramid?
2 6 T o9 AUz &1 3muR
—x ><8x2;<,6’ 8V2Z cm S AT UF a9t @
& g iR = vAF RAEF FR
-3 &I F91$ 10 cm g1 RufAs &t

=56 AT (cm3 ®) fraer &2
256 b) 224
c) 426 d) 96v2

| SSC CGL T-2 2020 | 20



[Y: The area of the square base of a

right pyramid is 36 cm? If the

) 5/67( Q;—l—‘;’5 area of each triangle forming the

2 D slant surface is 15 cm? then the
volume of the pyramid is

fFf Rufas & aeier smur

=/ y HT 9P 36 cm? & S
|2 . URd Wdg ddAT drlr UAS
1y26x Y A 3> ST 1 A% IR 15 cm?
/3 oy c—79 gmeﬁ RufAs &1 3maas gar
|
a) 64 cm? %48 cm3
c) 24 cm3 d) 144 cm3




/5¢ A pyramid on a square base has
four equilateral triangles on its
four other faces, each edges
being 10 m. Find its volume.

\0 F RAufAz Saer smm s
52 gt ¥, Y SR 4 w@aE 10m
#_arell wHAg B |
& 3T IdT H
A235.7m®  b)288.7m?

~ c)532.7m3 d)352.7m3
SJ?_:IQ 2 ) )
X

\o

%me 55211 0%

o 3 X35 S




J¢. A pyramid has a square base, whose
oA side is 8 cm. If the height of pyramids
L9H-r bm is 16 cm, then what is the total
2 surface area of the pyramid?
=1y 32x4)17¢+ 64 G5 OF RRIE & Irew ot ¥ R
= |6 | g 8 cm | IR RufAs i 3918
¢ 16 cm &, a‘é Rufas #1 $o g7
= 6u(fF+ oo w1 87
Jn ) — 8/ /%4(x/_+ 1)  b)32(V13+1)
c) 64(2V17+1) d) 32(v5+1)

23
SSCCGL T2 9 Mar 2018



/#- If the slant height of a right
pyramid with square base is_4

o
_Lx/((a_x)(_a,,,lz 3 meter and the total slant surface
ISH —ofthe pyramid is 12 m?, then the
a= 2 ratio of total slant surface and
2 the area of the base is:

y PR IUR 9 & AufAs
LSA _ ¥Zyy $r A 39 4m 3R (A
= 19 gg 1 Fo &6 12m? g
3 ﬁ@w%mﬁw&ﬁt
WUR & &T%d & 37T
qdr H
—a—— 163 b) 24:5
c) 32:9 d) 12:3

| | 24
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